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Xx=A(x),y -1 071U TN1" TN? x=D(x,y) ,7172300 “TM7n 22=U
00”17 NN 702N x=B(x) ,0"2unn? a1mi 7n7n
a.Vx3y[(A(Y)AB(y)) AD(x,y)].
b.VxVy[D(x,y) =>(3(B(z)AD(x,z))].
c.VxVyVz[(Dxy)A( =D(y,z)))—>D(x,z)].
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U=R, D={(x,y)e Rz, — (x-yeQ)}, A={xeUxeQ },
B={xeU x>11}.

d. VxVyVz[(—-Dx,y)A( =D(y,2)))—>( =D(x,2))].
€. VxVy| (AX)AA(Y))—> D(x,y)j.
£.VxVy [(AXAB(y))—> D(x,y)].
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1.VxXVy[(R(xy) =>R(y,x)].

2. Vx (=R(x,x)).

3.3x3y3z [(R(xy) AR(y,2)) A (-R(Xx,2))].
4. IXVY[R(x,y)].

U={ab}, R={(a,b).(b,a)}.
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1. VxVyVzVw [(G(X,y,z) AG(X,y,W))>(z=W)].
2. IxXVY[G(x,y. )]
3. IxVy[G(y.x,¥)].
IxVY[G(X,y.y) A G(y.x.Y)]
121N

4. Vy[G(ay.y)l, 2, EP(x/a).

5. Vy[G(y,b,y)], 3, EP(x/b).

6. G(a,b,b), 4, US(y/b).

7. G(a,b,a), 5, US(y/a).

8. G(a,b,b) nG(ab.,a), 6,7.

Q. VyVzvw [(G(a,y,z) AG(a,y,wi)-»(z=w)].1, US(x/a).



10. Vz¥w [(G(ab,z) AG(a,b,w)—>(z=w)].9, US(y/b).
11. ¥w [(G(a,b,b) AG(a,b,w))-»(b=w)].10, US(z/b).
12, [{(Gab,b) AG(ab,a))—>(b=a)], 11, US(w/a).

13. a=b, 8,13.MP.

14. G(ay,y), 4,US(y/y).

15. G(y,ay), 5, US(y/y).

16. G(ay.y) AG(y.a,y), 14,15.

17. Vy(G(a,y,y) nG(y.a,y)), 16,UG.
18. IxVy[G(x,y.y) A G(y.x.y)], 17, EG.

|
1. VxVyVvzvwVt [(G(X,y,z,w) AG(X,y,zt))—>(t=W)].
2. IxAyFAzVW[G(xy,w,w) AG(W,y,z,W)].
IxAyvz[G(x.y.z,2) A G(z,y.X,2)].
12100

3. Aydzvw[G(a,y,w,w) AG(w.y,z,w)], 1, EP(x/a).

4. 3zvVw[G(a,b,w,w) AG(w.,b,z,w)], 3,EP(y/b).

5. Vw[G(a,b,w.w) AG(w,b,c,w)], 4, EP(z/c).

6. G(a,b,c.c) AG(¢,b,¢,c), 5, US(w/c).

7. G(a,b,c,c), 6, perut.

8. G(a,b,a,a) AG(a,b,c,a), 4, US(w/a).

9. G(a,b,c,a), 8, perut.

10. G(ab,c,a) AG(ab.c.c), 7.9.

L vyVzvwVt [ (Gay.z,w) AGla,y. 2,0 - (t=w) i, T, USG/a).



12. Vzvw¥1 [(G(a,b,z,w) AG(a,b,z1))—>(t=w)], 11, US(y/b).
13. VwVt [(G(ab,c.w) AG(a,b.c.t))— (tFw)]. 12, US(z/c).
14, Vi [(G(ab,c,a) AG(a,b,c.t))-(ta)], 13, US(w/a).

15. (G(a,b,c,a) AG(a,b,c,c))—>(c=a), 14, US(t/c).

16. c=a, 10,15,MP.

17. G(a,b,z,z) AG(z,b,a,z), 5, US(W/z).

18. Vz(G(a,b,z,z) AG(z,b,a,2)), 17, UG.

19. IyVz[G(a,y,z,z) A G(z,y,2,2)], 18, EG.

20. IxIyVz[G(x.y,zz) A G(z,y,X,2)], 19, EG.

1. {VxVy[D(x,y)=>D(y.x)]} > {3xVy [D(x.y)]}-
2. {IxVy [Dx,y)]} = {VxVyVz [(D(xy) AD(y,z))>D(x,2)}}.
3. Ix3yFz| D(x,y)AD(y,2)A( —D(Xx,2))].

Ix3y [D(x,y) A(=D(y.x))].

4. = (= (3Ix3yFZ[D(x,y)AD(y,2)A( =D(x,2))].)), 3, (9).
5. = (VxVyVz[(— (D(x,y)AD(y,2))) v (D(x,2)]), 4, DM.
6. - (VxVyVz[ (D(xy)AD(y,2)) »>D(x,z)]), 4, DM.

7. ={3IxVy [D(x,y)]}2.6,MT.

8. ={VxVy [DOY)—>D(y,x)|}1,7,MT.

9. Ixdy —[ D(x,y)—>D(y,x)],8, DM.

10. Ix3y [D(x,y) A(=D(y,x))], 9,.DM,(27).
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u2p M w1 RN X120 sizpz(X,Y) Prolog, Nowl on® 21N3
07U 91N 0*12*Ri 0120 &1 Y -1 070 07719010 70 N0
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7131 NMANT .N"190 N1UXP9]
?-sizpz([1,2,31,Y).
Y=2.
?-sizpz([1,2,3,4],Y).
Y=-2

131N
code plsizpz



sizpz([].0).

sizpz(1X1.X).

sizpz(| X, Y|Z 1 N):-sizpz: Z.M), N is M+ Y.
endcode sizpz
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nm'w1 10 Y -1 X 12 10X zugiso(X,Y) , Prolog nawi on® 11n2
mrm R Y TR TT2RNN L 020 171901 20 NPT X7 MMNTO
1710 1702 01170, 07000 MNIpNA 0o ainn X 20 0712 Ri
VPY 92N A2 WAV TIPDI WA M A, WY 10X IR
IR MNTT B0 N0 P11,
?-zugiso([5,4,3,2,1],S).
S=[2.41.



code of zZugiso

sagiso([L.1]).

zugiso([X].[]).

zugiso([X, YLIY]).

ugiso([ X, Y,Z|W]M):-zugiso([Z|W],N), seder(Y,N,M).
seder(Y,[LIYD.

seder(Y,[X|Z].[Y.X|Z]):-Y<=X.
seder(Y,[X|Z],[XIM]):-X<Y, seder([Y|Z].M).

endcode zugiso
AMTI?1 10) 6 N2XRW
yafyuf(X)Y) .Prolog nowi xkan Tipil 1113
----- ~—-begin code-----—---
yaffe(a,b).
vaffe(b,d;.

yafte(a,¢).



yaffe(c,d).
vafyuf(X,Y):-vaffe(X)Y).
yefyuf(X,Y):-yatte(X.Z2),yaivuf{(7.Y).

RN2'RWA AN

?-yafyuf(a,S).
mnw N1 (MN?7'RO=)NT1TA0N 1K 207103 071300 D181 X XN
MKR? . UNNONi °923 1"w200 AN?3nn 0?29 T ,0MINunil

; 091w NN MLm NNOXRTIT NIN?2300

1121wn

loop 1, yafyuf(a,S).

Joop 1, line 5, X1=a, Y1=S

begin loop 2, yaffe(a,Y2), Y2=Y1.
loop 2, Ime 1, Y2=b.

Joop 1, Y1=b.

.print S=b.

loop 2, line 3, Y2=c.
doop 1, Yl=c.
print S=c.

Joop 2 ends.

loop 1, line 6, X1=a,Y1=S, Z1=73.
begin loop 3, yaffe(a,Z3).

.begin loop 4(afier success of loop 3 only), yafyuf(Z3,Y4),
Y4=Y1.

Joop 3, line 1, Z3=b.

begin loop 4, yafyuf(b,Y4).

loop 4, line 5, X4=b.

.begin loop 3, yafte(b,Y5), Y5=Y4.
Jdoop 5, e 2, Y5=a.

Joop 4, Y4=d.

Joop 1, Y1=d.

.print S=d.

Joop S ends.



Joop 4, line 6, X4=b,
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I a—»svt.

2. (—1V)—)( —IS).
3.vow.

4. (—w)—=>( —u).
5. (—u)—>( ).
6. w—q.
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nrv1a.(1) nand 0PN T 2D [a->((-b)Ac)] MBI NIR RYD
ANt 20

A121WN

[a—>((=b)AC)I=[(ma)v (=b)Ac)IE=(=[(—a)v(=b)Ac)])
==[an(=((=b)rc)Fat(=((=b)Ac))=al((=b)Tc)) =at((bTb)Tc))

9 N?7RW

.0"27Wn 72 NXR v19 X,R17 9N 2w dnf -n X NXR XXN
x=[(arb)—>(cAd)]<>(bAd)

n21wn
x={[(arb) > cAd)IAD v [anb)—>endial-(bad))))
=[(=(@rb))v(erd)IAbAd)V(=( [(~(arb))v(crd) DA(—(brd))))
=([(—a)v( =b))v(cad)]a(bAad))v(—(
[(=(anb))v(end)DA(=(bAd)))) =[((—a)A(bAd))vOV (bacad)]
viarbA((=e V(=) A (=D =D EH(—=a)A(bAd) ) (bAacad)]
VH@ADA((OA(=D))v(anbA(=A d))v



(@AbA((=d)A(=D))v(@AbA((md)A(—d))]
=[((—a)A(bAd))V(bacAd) V(@I (arbA((—e)A(=d))v
(@M (arbA((—dA(-d))]

=[((—a)A(bAd))v(bacad)v](aabA((—Cc)A(—d))v(anbAa(—d))]
:0'RAN 012NN NIXR 22PN
(ma)AbacAad, (—a)AbA(—C)Ad, (ma)AbAcAd, anbacad,
anbA(—C)A(=d), aabA(—C)A(—d), arbaca(—d)
0" 121TM NW0™IN 22P1 1221 00T 0M121N1 20 Mt 1w 021Nn
dnf(x) = (—a)AbAcAad, (ma)AbA(=C)Ad, anbacAad,
anbA(—c)A(—d), arbAaca(—d)
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p,q P1° T2 T'MNIUR "1 WMW 7110 ,7T2A72 — 10PN T 20 111 0K
%P 1M1 1N X7 OX1,801 -13 TR 7pvq TWRIN NX X837,

110N
pva=(p—>q)—>q

1-10"1MN

—-1=0.4 =0=1.3 .1Ap=p.2 Ovp=p .1 .,p MU 2237
Ivp=1 .6 OAp=0.5

1'31019NT'R "IN
pAp=p -8 pvp=p .7.pmbY 23?

n2"2W PN

0'¢Inm p 11Dy PRy
pA(=p)=0 .11 pv(=p=l .10 = (=(p)=p .9
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PNt -1q,p N0 237

pv (garF (pvad Alpvr) 13 pa (Qur)=pag) vipar) L1z
(MMAMIXRXIOKX) P1aP "

D'PIMm r -1 q.,p NIBY 237

pA (QAD)=(PAQ) AT . 15 pv (qvr)=(pvq) vr . 14
M1P2"0UIMY) M°N PN

0PN q -1 p MDY 932

PAG=aAp . 17 pvag=qvp .16

121 -1T "N

ﬁ(p/\q)z( ﬁp) A\ ( ﬁq) .19 ﬂ(pvq)=( ﬁp) N ( ﬂq) .18

[(p—>9)Ap]—q modus ponens — 20 273

[(p—>PA(=q)]— (—p) modus tolens — 21 272

[(p>PA( g—1)]— (p—T1) M2V 22 27D

DAQ - O ,pAQ—> p U119 223 23 273



((=9) = (=p)) « (p — q) X MITIWNPN 222 24 27D

1(pvq) A(=p)] = qcut 223 25 2723

[(pAqQ) =1] « [p— (q —1)] I™NYTNTORR 273 26 222

[(—=p) vq] < [p— q] 0172 N7Ta0 27 223

(p—q) <« [(p—~> 9 A (qg— p)] D1Z27PW NITAN 28 222

(p—q) <« [(pA q) v ((=p)A (—q))] MIZ*RW NATAN 29 272

[(avb) A ((—a) ve)] — (bve) 11211710 11720 30 223

[(a—b) A (a—>¢)] > (a—>(bac)) 31 270

0B T19 PIn
- WRINA, A(t) P09 IR YXA(X) 210900 2'on? mn US(x/t)

MR A -1 1N2aXNW 10 MNWN 000 IR ,R1NV?3 VI13P t
WON NU9IN GR N2P2enN

U1 ,IW0an x 20 Mmusinn 22 120 Ax) pioann UG(x)
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